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Ps = DPsx) X exp[—(z(a) — 2(x))9/ (RT)], (1)
ey X exp | — 0.0342 Con — 7c) o)
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e = min[e(K), esat(T(A))L (3)
VPD = esut(T(a)) O e, )
Rh = 100 x e/esqi(T(a)), (5)
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€sat(T) = 6.108 x 10(75T/375+T)) - (1pg), (6)
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U(2.5m) = f(2.5m) X Uobs; (7)

U10max(2.5m) = f(2.5m) X Ui0maz obs, (8)
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000000000000000 f.,00

(10)

In(z;/z0:) In(100/z0)

- In(100/z0: ) In(2ops/20) .

fz

goooooo
0ooooooonn 00000 uw,,, 00DODO0O00000000 2, 000000000000000O00
ooooobooooooboooono
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O00000 2sm(50)00000 (110) f(26m) 25 0.05
000000000 (90) f(1m) 1 0.005
FAOODDOO (100) F(2m) 2 0.05
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Sgo = 2 (EO) (h sin ¢ sind + sin h cos ¢ cosd), (12)
T
h = cosfl(—tanqb tand), (13)
(do/d)* = 1.00011 + 0.034221 cos i + 0.00128sin 7

40.000719 cos 21 + 0.000077 sin 27, (14)
) = sin"1(0.398 x sinay), (15)
as = 4.871+n+ 0.033sin 7, (16)
n = (27/365) x DOY. (17)
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No = 2H/0.2618, (18)
sin(H/2) = [A'/(cos¢ cosd)]'/?, (19)
A = sin(r/4d+ (¢ —0+7r)/2)sin(n/4—(p—3 —1)/2). (20)
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Sd/SdO = Oél—l-OéQ(N/No) 0<N/N0§1, (21)
— o N/N, = 0. (22)
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gooooog 1985 0.244 0.511 0.118
goo 2005 0.244 0.511 0.118
ggoo oOooood 0.179 0.550 0.114
goo 1986 0.244 0.511 0.118
goo 1996 0.244 0.511 0.118
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loggw = 0.0312Tpgw — 0.0963, (23)

logiowiop = 0.0315Tpgw — 0.1836, (24)

000 Tpepw (C)0O0O00O0O0COOODOODOOODOODOODO

237.3 x logy((e/6.108)
7.5 —logy(e/6.108) ’

O00e(hPa)0D 000000 OOOOOOOOOOOO

TpEw =

82 0UUODLDDOOO

Oooo00oooo Sga0oooiooooooodooooooooooboonooooon
O00Sp000 (12)0000000000

Sar/Sao = (C" +0.7 x 107™4F1) (1 — 3)(1 + 7), (26)
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' = 021-028p, Bp<03

= 0.15, Bp >0.3
Fi = 0.056 4+ 0.16\/3p,
i = 0.014(mg+ 7+ 2log;yw) log;ow
j = (0.066 +0.34y/Bp)(A —0.15),
ma = (ps/po)ksmy, (po = 1013hPa)
my = sec(¢—9), $—0<m/2,
= o9, $—0>m/2,
ks = 1.402 —0.06 logo(8p + 0.02) — 0.1v/my — 0.91.
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Lg/(eT™) = 0.74 +0.192 + 0.072?%, (28)
z = logywrop,
= 0.03B% —0.30B% +1.258B — 0.04, B >0.0323 (29)
= 0, B < 0.0323 (30)
B = S4/Sq,
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Ry = H+IE, +eoTH, (31)
H = cpgu(Ts—T), (32)
lEp = lng'(Qsat(Ts) - Q)' (33)
o000
Ry = (1—-A)S;+ €Ly, (34)
B = gr/gu =1 (35)
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gi = gp = max| a+ bug,), Ty — 1) (36)
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Gsat (Ts) = 0.622e40 (T)/ (ps — 0.378€s01 (T5)). (38)
000 Desq(T,) (hPa) 000000 7,0 0000000000000000
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p = 1.293 x 273.15/(273.15 + T)(ps/1013.25)(1 — 0.378¢/ps), (40)
I = 2.50 x 10% — 24007 (41)
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Q — oT" — lp(1 — Rh) gsar(T)/(ra + 7c)

o = T,—-T = 43
46T + plep +1ATA/(Ta +1C)]/TA (43)
Ero = p[(1 = Rh)qsat(T) + AT]/(ra + 1), (44)
QO = 1-A)S;+Ls—G. (45)
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TA = 208/ugm), (48)
rec = 70 (s/m). (49)
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Ry = H+IE+eoTh, (52)
H = ¢pgu(Tw —T), (53)
IE = lpge(gsat(Two) — q)- (54)
oooo
R; = (1—-A)Sq+ €Ly, (55)
B = ge/gn =1 (56)
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gn = gr = max[ a + buzsmy, c(Two — T)"/3) (57)
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Ry = H+IE+eoT,p, (59)
H = cppgroc(Twing) — T), (60)
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